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Kira owes Mark $5, and 
Mark owes Kira $7. 
Which statement means 
the same thing? 
 
A Kira owes Mark $2.  
B Kira owes Mark $12.  
C Mark owes Kira $2.  
D Mark owes Kira $12. 
!

Solve more than 1 way: 
 
24,593 + 16,861 = 

Current:	
   Other:	
  

 
Draw a pair of parallel 
lines.!
!
!
!
!

What is the value of the 9 
in the number 3,921,382? 
 
What is the value of the 3 
in the number 3,921,382? 
!

!
Today’s	
  Objective/Standard:	
  Identify	
  lines	
  that	
  are	
  
parallel	
  and	
  perpendicular.	
  (3MG2.0	
  &	
  4MG3.1)	
  	
  


